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10 |63%]66%|68%(69% |10%| 71%|72% | 72% | 12% | 73%| 73% | 73% | 14% | 74%| 74% | 74% | 14%
11 |64%]|67%|68%|70% | 71%| 71%|72%|72% | 13% | 3% 74% | 74% | 14% | 74%| 74% | 75% | 15%
12 |64%|67%|69%|70% | 11%| 72%| 72% | 73% | 13% | 74%| 74% | 74% | 14% | 15%| 75% | 75% | 15%
13 |64%|67%|69%|70% | 711%| 72%| 73% | 73% | 14% | 4% 74% | 15% | 15% | 15%| 75% | 75% | 16%
14 [65%|68% |69% | 71% | 12% | 12% | 13% | 14% | 14% | 14% | 15% | 5% | 75%| 75%| 76%| 76%| 76%
15 |65%]|68%|70%|71% | 12%| 73%| 73% | 14% | 14% | 75%| 75% | 15% | 15% | 16%| 76% | 76% | 16%
16 |65%|68%|70%|71% | 12%| 73%| 74% | 14% | 14% | 75%| 75% | 75% | 16% | 16%| 76% | 76% | 16%
17 |65%]|68%|70%|71% | 12%| 73%| 74% | 74% | 15% | 75%| 75% | 16% | 16% | 16%| 76% | 76% | 11%
18 |65%|68%|70%|72% | 13%| 73%| 74% | 14% | 15% | 75%| 76% | 16% | 16% | 16%| 76% | 71% | 11%
19 |66%]|68%|70%|72% | 13%| 73%| 74% | 75% | 15% | 75%| 76% | 16% | 16% | 16%| 77% | 71% | 11%
20 |66%|69%|70%|72%|73%| 74%| 74%| 75%| 75%| 76% | 76% | 76% | 76% | T1% | T1% | T1% | 71%

R R T TR (M) R A TR (n) RO 22 [ i RV RA (A4 T 3% 4-1 Fin
41 A T E L PERE m o n EAIZERIE ARG

N2 | 3| 4 s |6 |7 8 9 | 10 | 11 | 12 | 13
2 | 61% | 64% | 66% | 66% | 67% | 68% | 68% | 68% | 68% | 69% | 69% | 69%
3| 64% | 67% | 69% | 69% | 10% | 11% | 7% | 1% | 2% | 72% | 72% | 72%
4 | 66% | 69% | 0% | 11% | 72% | 72% | 73% | 73% | 3% | 74% | 74% | 74%
5 | 66% | 69% | T1% | 2% | 2% | 3% | 3% | T4% | 74% | 14% | 74% | 75%
6 | 67% | 10% | 72% | 12% | 3% | 4% | 74% | 75% | 5% | 5% | 75% | 76%
7| 68% | 1% | 72% | 73% | 74% | 15% | 5% | 75% | 6% | 6% | 16% | 76%
8 | 68% | T1% | 73% | 73% | 74% | 15% | 15% | 6% | 6% | 6% | 6% | 71%
9 | 68% | 1% | 73% | 74% | 75% | 15% | 16% | 6% | 6% | 11% | 11% | 71%
10 | 68% | 12% | 3% | 74% | 75% | 76% | 76% | 76% | 11% | 11% | 11% | 1%
11| 69% | 72% | 74% | 74% | 75% | 76% | 76% | 171% | 71% | 71% | 71% | 78%
12 | 69% | 72% | 74% | 74% | 75% | 76% | 76% | 1% | 71% | 71% | 78% | 78%
13 | 69% | 12% | 74% | 15% | 76% | 76% | 71% | 71% | 71% | 18% | 18% | 78%
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